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(1) 667 =299-2+ 69
299=69-4+ 23
69=23-3+0
Ko T, 667 & 299 DERAKEIT 23
(2) 517=187-2+143
187=143-1+44
143=44-3+11
44=11-4+0
X o T, 517 & 187 O ERAKEIT 11
(3) 923=377-2+169
377=169-2+ 39
169=39-4+13
39=13-3+0
Ko T, 923 & 377 OERAKIEIT 13
@ (1) 23 & 16 ICABRIEOHEZITO,
23=16-1+7 BETLHE 7=23-16-1
16=7-2+2 BETLHE 2=16—7-2
7=2-3+1 BHITLHE 1=7-2-3
Lo T 1=7-2.3
=7—(16—7-2)-3
=7-7416-(—3)
=(23-16-1)-7+16-(—3)
=23-74+16-(—10)
bbb 23:7+16-(—10)=1
EoT, RDODLEH x, yOMD121T x=7, y=-—10
(2) 34 L 29 ICHBRIEDOFHEEZIT .,
34=29-14+5 BETLHE 5=34-29-1
29=5-5+14 BETHE 4=29-5-5
5=4-1+1 BETLHE 1=5-4-1
LT 1=5—-4-1
=5—(29—-5-5)-1
=5-6—29-1
=(34—29-1)-6—29-1
=34-6—29-7
Thob 34-6—-29-7=1
WAz 4 2805 &
34-24—-29-28=4
EoT, RKODEHK x, yOMDO 12T x=24, y=28



(1) 23 & 16 ICHBRIEDFHRZ1T 9,

23=16-1+7
16=7-242
7=2-3+1
a=23, b=16 £ EB<,
7=23-16-1 £V 7T=a—b-1=a—-0
2=16—-7-2 £V 2=b—(a—0b)-2=—2a+3b
1=7-2-3 XV l=(a—b)—(—2a+3b)-3=7a—10b

£-o7C, 7a—100=1 LV 23-7+16-(—10)=1
L7eRoT, ROLEH x, yOMD 121X x=7, y=-10
(2) 34 L 29 ICHBRIEOFHEEZITH,

34=29-1+5
29=5-5+4
5=4-1+1
a=34, b=29 LB,
5=34-29-1 &Y S=a—-b-1=a—-0
4=29-5-5 LY 4=b—(a—0b)-5=—5a+6b
1=5—-4-1 kY l=(a—b)—(—5a+6b)-1=6a—"7b

£oTC, 6a—7b=1 LV 34-6—-29-7=1
M 4 28T 5 & 34-24—-29-28=14
L7eRoT, RODLEH x, y D1 21L x=24, y=28

(1) Sx—2y=1 - ©
x=1, y=21%, O OOl >THS,
LT 5.1—=2.2=1 -.-... ®
O-@ 75 Sx—1)—2(y—2)=0 - ®

5L 2IFAWVIZETHDIND, @ XD

x—1=2k, y—2=05k (kI3%%)
L7z T, O DT NTOBEEMRIE

x=2k+1, y=5k+2 (RITHEEE)

(2) 36x+25y=2 - 0
x=—9, y=13 1%, 36x+25y=1 OEHMO 1 > Th %,
LT 36-(—9)+25-13=1
WO 2 275 L 36+(—18)4+25-26=2 .- ®@
O-@ b 36(x+18)+25(y—26)=0 ------ ®

36 & 25 1FAHWVIZHETHLIND, @ £V
x+18=25k, y—26=—36k (k1T

LR T, O DT _CTOEEMRIL
x=25k—18, y=—36k+26 (k133K



sZ]1 (2) 36 & B ITHREEZH VD &
36=25-1+11 BHEHTLHE 11=36—25-1
25=11-2+43 BHETLHE 3=25-11-2
11=3-3+2 BEHTLHE 2=11-3-3
3=2-1+1 BEHYLHE 1=3-2-1
fo>T 1=3-2-1=3-(11-3-3)-1=3-4+11-(—-1)
=(25-11-2)-4+11-(—-1)=25-44+11-(-9)
=25-44(36—25-1)-(—9)=36-(—9)+25-13
L7enio>T, 36x+25y=1 OFEHED 1ol x=-9, y=13
BE)2 (2) 36 & 25 ICHRIEOFHEEITH,
36=25-1+11
25=11-2+43
11=3-3+2
3=2-1+1
a=36, b=25 LB,
11=36—25-1 &V ll=a—-b-1=a—->
3=25—-11-2 &V 3=b—(a—0)-2=—-2a+3b
2=11-3-3 &Y 2=(a—b)—(—2a+3b)-3=T7a—10b
1=3-2-1 %9 1=(—-2a+3b)—(7a—100)-1=—9a +13b
£-o7T, —9a+13b=1 LV 36-(—9)+25-13=1
L7ehio>T, 36x+25y=1 OFEERED 1 21L x=-9, y=13
[[1] RoDEREE 0 25D, w38 x, y2ANT, KOEDITRSND,
n=3x+2, n=4y+3

Lo T 3x+2=4y+3

ERAYPYS 3x—dy=1 - D

x=—1, y=—113Q OBEEMRD 1 >Ths1nb
3-(=1)—4-(=1)=1  -eee )

DO-@ 25 3(x+1)—4(y+1)=0 oo ®

3LAITHENVCETHLING, @ Zilc T8 v 1%
x+1=4k Thbb x=4k—1 (RITEE)
ERIND,
L7eh-T n=3x+2=34k—1)+2=12k—1
126 —1 3 3MTCTRRRD AR L 2D DX, k=83 DL ET
n=12-83—1=995 B 99



)

(2)

&

ROLE 2 n L3558, (A), B)2»b, nidEEx, yZHONTKRD X IIZ
KI5,
n=3x+2, n=5y+3

LoT 3x+2=5y+3

Thebb 3x—=5y=1 @®

x=2, y=113 O OBEMRDO 1 >TH L0
3.2-5.1=1 e ®

O-@ »5 x—2)—5y—1)=0 ----- ©)
3ESIFAVICETHDLND, @ il 8% x 1%
x—2=5k T7obb x=5k+2 (kITFEE)

LRIND,

Lo T n=3x+2=35k+2)+2=15k+38
15+ 8 NIETHR/NE R DHDIX, k=0 DL ET n=2_8
15k +8 WA THRKRERDDIE, k=—-1DLET n=-7

RODLEREn LT5L, CO0nd, ni3Ez 2T n=Tz4+4 FEZh 2,
F72, )&V, (A), (B ZFRFFCHIETES » 138K k2 HNTn=15k+8 £
NHMND

7z+4=15k+38
Thbb Tz—15k=4 - @
z2=T7, k=313 @ OEEIRDO 1 >THLINH
7.7—15-3=4 .. ®

@D—- b Nz—7)—15(k—3)=0 ------ ®
TL15FAEVCETHLND, © T8 2 1%

z2—T7=151 $7xbb 2z2=151+7 (113K
LRIND,
NEn=Tz4+4 12T DL

n="T15/+7)+4=105]+53
105/ 453 NIETHi/NE72H6DIE, =0 DL X T n =53
105/+53 WA TR KRERDDIE, I=—1DELET n=—>52
o)y 8 ()7 (v) 5 (=) 3 ()5 () 2



